0A	1	11/1/2008	2008-200	9 Unisys	Mixed L	.eague <sup>k</sup> Bı	udget Est	imate	
0A	2								
0A	3	ESTIMATES		cost / wk		weeks	persons	total	
0A	4	income	income			29	33	\$9,570.00	total income (28 weeks + \$10 extra)
0A		officers pay	<i>'</i>					-\$130.00	
0A								\$9,440.00	total
0A	5	bowling cos	st	\$6.25		28	33	\$5,775.00	bowling cost
0A	6	prize mone	у					\$3,665.00	current year net
0A	7	prize mone	у				33	\$111.06	person
0A	8								late start bowler loss
0A	9	Money from	previou	s years				\$5.00	Starting Checking Account Balance
0A	10	Money from	n previou	s years				367.86	Starting Savings Account Balance
0A	11							\$4,037.86	fun budget amount
0A	12								
0A	13							\$4,037.86	SAVINGS BALANCE EXPECTED
0A	14	EXPECTED EXPENS		SES					
0A	15	Thanksgiving Turke		0.00					
0A	16	Turkey Adjustment:		0.00					
0A	17	Christmas f	<del>unds:</del>	0.00					
0A	18	Trophies/m	isc:	60.00				-\$60.00	
0A	19	Software		50.00				-\$50.00	
0A	20	Banquet:		825.00	25.00		33	-\$825.00	
0A	21							-\$935.00	total
0A	22							\$3,102.86	PRIZE FUND TOTAL AVAILABLE
0A	23							\$2,990.00	CALCULATED PRIZE FUND
0A	24						33	\$90.61	Prize per person
0A	25							\$112.86	Money for next year
0B	1								
0B	2			H/A	# of	Prize/	Team		
					people	Person	Total		
0B	3				-				
1T	1	Team Posit	1st		3	\$75	\$225		
1T	2	Team Posit	2nd		3	\$70	\$210		December 2008
1T	3	Team Posit	3rd		3	\$65	\$195		Page 1 of 4

1T	4	Team Posit	4th		3	<b>\$60</b> kk	\$180	
<u>''</u> 1T	5	Team Posit	5th		3	\$55	\$165	
<u>''</u> 1T	6	Team Posit	6th		3	\$50	\$150	
1T	7	Team Posit	7th		3	\$45	\$135	
1T	8	Team Posit	8th		3	\$40	\$133 \$120	
1T	9	Team Posit	9th		3	\$35	\$120 \$105	
1T	10	Team Posit	10th		3	\$30	\$90	
1T	11	Team Posit	11th		3	\$25	\$75	
1T	12	Team Posit	12th		0	\$5	\$0	
1T	13	Team Tosiq	12111			ψυ	ΨΟ	
2T	1	Games:						
2T	2	Team High	1st	Α	3	\$15	\$45	
2T	3	Team High	1st	Ĥ	3	\$15 \$15	\$45	
2T	4	Team High	2nd	A	3	\$15	\$45	
2T	5	Team High	2nd	Ĥ	3	\$15	\$45	
2T	6	Series:	LIIG	• • •		ΨΙΟ	ΨΤΟ	
2T	7	Team High	1st	Α	3	\$15	\$45	
2T	8	Team High	1st	H	3	\$15	\$45	
2T	9	Team High	2nd	Α	3	\$15	\$45	
2T	10	Team High	2nd	H	3	\$15	\$45	
3J	1	Highs:	ZIIG	•••		Ψισ	ΨΨΟ	
3J	2	Roll Off Cha	ımns		3	\$60	\$180	
3J	3	Roll Off 2nd			3	\$30	\$90	
3J	4	Men's High	1st	Α	1	\$15	\$15	
3J	5	Women's H	1st	A	1	\$15	\$15	
3J	6	Men's High	2nd	A	1	\$15	\$15	
3J	7	Women's H	2nd	A	1	\$15	\$15	
3J	8	770111011 0 11	ZIIG	, ,	•	Ψισ	7.0	
4K	1	Awards	Pins, me	dals. tro	nhies			
4K	2	71114140	,		F00			
5J	1	Men's High	Game					
5J	2	Men's High	1st	Α	1	\$15	\$15	
5J	3	Men's High	2nd	A	1	\$15	\$15	
5J	4	Men's High	1st	H	1	\$15	\$15	D
5J	5	Men's High	2nd	H	1	\$15	\$15	December 2008 Page 2 of 4
						7.0	<b>Y.</b> -	raye z ur 4

5J	6	Men's High S	eries			kk		
5J	7	Men's High	1st	Α	1	\$15	\$15	
5J	8	Men's High	2nd	Α	1	\$15	<b>\$15</b>	
5J	9	Men's High	1st	Н	1	\$15	\$15	
5J	10	Men's High	2nd	Н	1	\$15	\$15	
6J	1	Women's Hig	h Game	9				
6J	2	Women's H	1st	Α	1	\$15	\$15	
6J	3	Women's H	2nd	Α	1	\$15	\$15	
6J	4	Women's H	1st	Н	1	\$15	\$15	
6J	5	Women's H	2nd	Н	1	\$15	\$15	
<b>6</b> J	6	Women's Hig	h Serie	S				
6J	7	Women's H	1st	Α	1	\$15	\$15	
6J	8	Women's H	2nd	Α	1	\$15	\$15	
6J	9	Women's H	1st	Н	1	\$15	\$15	
6J	10	Women's H	2nd	Н	1	\$15	\$15	
<b>6</b> J	11							
7J	1	Most Improve	ed Bow	lers:				
7J	2	Most Impro	1st		1	\$20	\$20	
7J	3	Most Impro	1st		1	\$20	\$20	
7J	4	Most Impro	2nd		1	\$20	\$20	
7J	5	Most Impro	2nd		1	\$20	\$20	
8T	1	Last Night Do	oubles:-					
8T	2	Doubles	1st		2	\$20	\$40	
8T	3	Doubles	2nd		2	\$20	\$40	
8T	4	Doubles	3rd		2	\$15	\$30	
8T	5	Doubles	4th		2	\$15	\$30	
8T	6	Doubles	5th		2	\$15	\$30	
8T	7	Doubles	6th		2	\$10	\$20	
8T	8	Doubles	7th		2	\$10	\$20	
8T	9	Doubles	8th		2	\$10	\$20	
8T	10	Doubles	9th		2	\$5	\$10	
8T	11	Doubles	10th		2	\$5	\$10	
8T	12	Doubles	11th		2	\$5	\$10	
8T	13	Doubles	12th		2	\$5	\$10	December 2008
8T	14	Doubles	13th		2	\$5	\$10	Page 3 of 4

8T	15	Doubles	14th	2	<b>\$5</b> kk	\$10			
8T	16	Doubles	15th	2	\$5	\$10			
8T	17	Doubles	16th	2	\$5	\$10			
8T	18	Doubles	17th	0	\$5	\$0			
8T	19								
9T	1								
9T	2	9-Pin No- Tap Men's High Game	1st	1	\$10	\$10			
9T	3	9-Pin No- Tap Women's High Game	1st	1	\$10	\$10			
9T	4								
9z	1								
9z	2	Total Prize	pay-out			\$2,990			
9z	3		From Above			\$3,103			
9z	4			İ		-			
9z	5								